| Math 308

| Predator/prey example.

> with(plots):

War ni ng, the nane changecoords has
> H:= 2*In(x)+l n(y)-x-y;
H:=

tation=[-60, 75], cont our s=2

d=[ 101, 101], col or =bl ack, t

been redefined

In(y) —y+2In(x) —x

> cont our pl ot (H, x=0..4,y=0..2,contours=[-5,-4,-3,-2,-1.75,

hi ckness=2) ;

> pl ot 3d(H, x=0.. 4, y=0.. 2, styl e=pat chcont our, shadi ng=zgrayscal e, ori en
1, axes=boxed);

-1.62],gri

270 /
I / / \
L / ™
[ / ™
] I |, / T . \\
/ / e A
15| | | [ \ \
! / \,
! 1/ .‘Ii \ %
| | { Ir" - \ ‘\
Yo [ \ \w J
lgl I‘. \\ /{ ."/
| ‘ll \ \\ /_/' // //.,I
o5l || | \ — -
S0 -
] ".‘ \ \ \\______________,,-.---'
Vo
.\ \-______ ____________ ———
IS — — —=
0 1 2 3 4
"> eval f (subs(x=2,y=1, H)): )
-1.613705639



